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CALIFORNIA STATE UNIVERSITY, FULLERTON

Computer Engineering

EGCP 401 — Engineering Economics & Professionalism
(Spring 2021)
Homework no 3 (Due date: 03/10/2021)

Q3-22 Alvin’s Uncle Arnold gave him $16,000 from selling the old family farm. Alvin wants
to start college and have $12,000 avaiable to buy a used car when he graduates in 4 years. Alvin
earns 2% in hios savings account. How much can he spend on a motorcycle now and still have
enough grown to the $12,000 he needs when he graduates?

Q3-33 A firm paid $160,000 for a building site two years ago. It is now worth $200,000, and
firm’s plans have changed so that no building is planned. The firm estimates that the land will
be woth $240,000 in four years. If the firm’s interest rate is 5%, what should it do?

Q3 -46 A bank is offering to sell 6-month certificates of deposits for $12,000. At the end of 6
months, the bank will pay $13,000 to the certificate's owner. Compute the nominal annual
interest rate and the effective annual interest rate.

Q3-55 Jill deposited $8,000 into a bank for 6 months. At the end of that time, she withdrew the
money and received $8250. If the bank paid interest based on continuous compounding:

a) What was the effective annual interest rate?

b) What was the nominal annual interest rate?

Q4-10 For what value of n, based on a 5% interest rate, do these cash flows have a present
value of 0?

A =165

Q 4-24 Tori is planning to buy a car. The maximum payment she can make is $3400 per
year, and she can get a car loan at her credit union for 7.3%interest. Assume her payments
will be made at the end of each year 1-4. If Tori’s old car can be traded in for $3325, which
is her down payment, what is the most expensive car she can purchase?

Q4-42 A woman made 7 annual end-of-year purchases of $3500 worth of common stock.
The stock paid no dividends. Then for 8 years she held the stock. At the end of the 8 years
she sold all the stock for $38,000. What interest rate did she obtain on her investment?+



Q4-52 Assume an 8% interest rate and find S, T, and X.

1800
800
1200 600
400
7| aill
} A

0 1 2 3 4 0 1 2 3 4 5

(a) S=valueatt=0 (b) T = uniform value for 5 periods

600
450
300
150 T T
A
1 2 3 -

(c) X=valueatr=0

Q4-66 A debt of $5000 can be repaid, with interest at 8%, by the following payments. How
much is X?

0

Year | Payment
1 $ 500

2 1000

3 1500

4 2000

5 X
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